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QUESTION 1

In an Ethernet Virtual Circuit environment, which restriction do bridge domains have when STP is running? 

A. The STP mode must be RSTP or PVST+ 

B. Bridge domains must be mapped to a different VLAN. 

C. The STP mode must be MSTP 

D. Bridge domains must belong to different MST instances. 

Correct Answer: C 

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr920/configuration/guide/ce/b_ce_xe-313s-
asr920-book/b_ce_xe-313s-asr920-book_chapter_01.html#reference_770349446ED24E83821EF701DDC46BFD 

 

QUESTION 2

What do EVPN single-active and all-active have in common? 

A. They are default gateway redundancy options. 

B. They are multihoming mechanisms used for CE devices. 

C. They are used to provide single connection from a CE device to a service provider. 

D. They are both roles that a designated router can take when MPLS is used with EVPN. 

Correct Answer: D 

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr9000/software/asr9k-r6-2/lxvpn/configuration/guide/b-l2vpn-
cg-asr9000-62x/b-l2vpn-cg-asr9000-62x_chapter_01011.html 

 

QUESTION 3

How does Layer 3 VPN traffic traverse an ISP network? 

A. Devices on the network use MPLS labels to share VPN routes between P routers in the network. 

B. Devices on the network use LSAs to share routes between P routers in the network. 

C. Devices on the network use MPLS labels to move VPN traffic through the network. 

D. Devices on the network use GRE tunnels to move traffic between VRFs. 

Correct Answer: C 

 

QUESTION 4
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You try to configure MPLS VPN VRF Selection based on a source IP address on an interface that has VRF configured,
but you receive an error. Which action must you take to correct the problem? 

A. Change the source IP address. 

B. Add the IP address to the VRF table. 

C. Remove the VRF from the interface. 

D. Configure static routes for the VRF. 

Correct Answer: C 

Reference: https://www.cisco.com/c/en/us/td/docs/ios/12_0s/feature/guide/vrfselec.html 

 

QUESTION 5

Which condition must be met before an environment can support CSC? 

A. The CSC-PE and CSC-CE must each be able to ping an interface in its respective global routing table. 

B. The CSC-PE and the CSC-CE must support IPv6. 

C. The CSC-PE and CSC-CE devices must be able to send labels to one another using BGP. 

D. The CSC-CE must support OSPFv3. 

Correct Answer: C 
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